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N.B. i) Attempt all questions
i) All question carry equal marks

i)  Use OMR answer sheet

1. Zener diode utilises ......... characteristics for voltage regulation.
A)  Reverse B) Forward
C) Both forward and reverse D)  None of the above
2. In an unregulated power supply, if a.c. input voltage increases, then the
output voltage..
A)  Decreases B) Increases
C) Remains constant D)  None of the above
3. Zener diode can be used as...
A) DC voltage regulator only B) AC voltage regulator only

C) Both DC and AC voltage regulator D)  None of the above

4. Percentage voltage regulation is

A) VnL—VF1LX100 B) WL « 100
VrL VFL
C) ﬁ x 100 D) VnL+VEL X100
VNL VFL
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Zener diodeisusedasa ............ voltage regulating device.

A)  series B)  shunt

C)  Series-shunt D)  None of the these

In Zener voltage regulator, change in load current produce changes in
A)  Zener current B)  Zener voltage

C) Both Zener voltage and current D)  None of the above

Zener diode are generally made up of.

A)  Germanium B) Carbon

C) iron D)  Silicon

Which of these is the best description for Zener diode

A) Itisdiode B) Itis constant current device
C) Itisconstant voltage device D) It works in forward bias only

A regulated DC power supply contains

A)  Rectifier circuit only B)  Filter circuit only

C)  Zener diode only D)  All of the above

The load voltage is approximately constant when a Zener diode is ...

A)  Forward biased B) Unbiased

C) Reverse biased D Operating in breakdown region

Number of depletion regions in a transistor is/are..

A)  Four B) Three

C) One D) Two

The base of the transistor is ..

A)  Heavily doped B)  Moderately doped
C) Lightly doped D)  None of the above

The most commonly used transistor arrangement is
A)  Common emitter arrangement B)  Common base arrangement

C)  Common collector arrangementD)  None of these
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As temperature of transistor increases, the base emitter resistance..

A)  Decreases B)  Increases

C) Remains same D)  None of the above
In npn transistor .......... Are the minority carriers

A)  Donerions B) Holes

C)  Freeelectrons D)  Accepter ions

In a transistor....

A =1 —1I B) I.=I;+I;
C) Izg=I+1I, D) Ip=1I.+1I

There are --------- h parameters of transistor

A)  Five B) Two

C) Four D)  Three

Dimensions of h parameter are

A)  Ohm B) mho

C) farad D) ampere

Transistor biasing represents.......... conditions

A) DC B) AC

C) Both ACand DC D)  None of the above
Transistor biasing is done to keep .......... In the circuit

A)  Proper direct current B)  Proper alternating current
C)  The base current small D)  Collector current small

In OP-AMP common mode gain is

A)  Very high B) Verylow

C)  Always unity D)  Unpredictable
Current can not flow to ground through...

A) A mechanical ground B) AnACground
C) Anordinary ground D)  Avirtual ground
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Common mode rejection ratio (CMRR) is

A) Aem B) Abm
Apm Acm
A Acyp—
C) CIZ+ADM D) CIZ Apm
DM DM

The differential gain is

A)  Very high B) Verylow

C) Depends upon input voltage D)  About 100

For an OP-AMP with negative feedback, the output is

A)  Equal to input B) Increased

C) Feedbackto inverting input D) Fed back to noninverting input
An OP-AMP can amplify

A)  DC signals only B) AC signals only

C) Both AC and DC signals D)  Neither DC nor AC signals
Slew rate is maximum rate of change of ....

A)  Input current B)  Output current

C) Input voltage D)  Output Voltage

Slew rate is measured in...

A)  Volts/microsecond B)  Ampere/ micro second

C)  Micro-second/ volts D)  Micro second/Ampere

If Apm=3500 and Acm =0.35 then CMRR is

A) 1225 B) 10,000

C) 0.0001 D)  None of the these

Which of the following is/are properties of OP-AMP

A)  High input impedance B) Large open loop voltage gain
C) Large CMRR D)  All of these

An oscillator converts..
A)  AC power into DC power B) DC power into AC power
C)  Mechanical power to AC D)  AC to Mechanical power
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In an LC transistor oscillator, active device is

A)  Transistor B)  Biasing circuit

C) LC tank circuit D)  All of these

An oscillator employs ....... Feedback

A)  Negative B)  Positive

C)Neither Positive nor negative D) Both positive and negative
An oscillator produces ......... oscillations

A)  Modulated B) damped

C)  Undamped D)  None of these

In phase shift oscillator, frequency determining elements are.....
A) LandC B) R,Land C

C) RandC D)  None of these
Hartely oscillator is commonly used in

A)  Radio transmitters B) TV receivers

C) Radio receiver D) TV transmitter

In LC oscillators, the frequency of oscillation is

A = B) =

0 D)

In a certain oscillator Ay=50.The attenuation of feedback circuit must be
A 1 B) 0.01

C) 10 D) 0.02

In phase shift oscillator we use ........ RC sections

A)  Three B) Two

C) Four D)  None of these

In Colpits oscillator, feedback is obtained by
A)  Tickler cail B)  Magnetic induction
C)  Centre of split capacitor D)  None of these
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